

On (Φ, Ψ) -intuitionistic Fuzzy Subgroups

YOUNG BAE JUN

Department of Mathematics Education, Gyeongsang National University, Chinju 660-701, Korea

e-mail : ybjun@gsnu.ac.kr

ABSTRACT. Using the *belongs to* relation (\in) and *quasi-coincidence with* relation (q) between intuitionistic fuzzy points and intuitionistic fuzzy sets, the concept of (Φ, Ψ) -intuitionistic fuzzy subgroup where Φ, Ψ are any two of $\{\in, q, \in \vee q, \in \wedge q\}$ with $\Phi \neq \in \wedge q$ is introduced, and related properties are investigated.

1. Introduction

After the introduction of the concept of fuzzy sets by L. A. Zadeh ([7]), several researchers were conducted on the generalizations of the notion of fuzzy sets. The idea of *intuitionistic fuzzy set* was first published by K. T. Atanassov ([1], [2]) as a generalization of the notion of fuzzy sets. A. Rosenfeld ([6]) studied fuzzy subgroups of a group. K. Hur et al. ([5]) introduced the notion of intuitionistic fuzzy subgroup of a group by using the notion of intuitionistic fuzzy sets.

In this paper, we introduce the concept of (Φ, Ψ) -intuitionistic fuzzy subgroup, where Φ and Ψ are any two of $\{\in, q, \in \vee q, \in \wedge q\}$ with $\Phi \neq \in \wedge q$, by using the *belongs to* relation (\in) and *quasi-coincidence with* relation (q) between intuitionistic fuzzy points and intuitionistic fuzzy sets, and investigate related properties.

2. Preliminaries

Let X be a nonempty set. An *intuitionistic fuzzy set* (IFS for short) A is an object having the form

$$A = \{(x, \mu_A(x), \gamma_A(x)) \mid x \in X\}$$

where the functions $\mu_A : X \rightarrow [0, 1]$ and $\gamma_A : X \rightarrow [0, 1]$ denote the degree of membership (namely $\mu_A(x)$) and the degree of nonmembership (namely $\gamma_A(x)$) of each element $x \in X$ to the set A , respectively, and $0 \leq \mu_A(x) + \gamma_A(x) \leq 1$ for all $x \in X$ (see [1], [2]). For the sake of simplicity, we shall use the symbol

Received January 6, 2004, and, in revised form, March 17, 2004.

2000 Mathematics Subject Classification: 03E72, 03F55, 20N25.

Key words and phrases: (Φ, Ψ) -intuitionistic fuzzy subgroup, intuitionistic fuzzy point.

The author was supported by Korea Research Foundation Grant (KRF-2003-005-C00013).

$A = \langle x, \mu_A, \gamma_A \rangle$ for the IFS $A = \{(x, \mu_A(x), \gamma_A(x)) \mid x \in X\}$. Let c be a point in a nonempty set X . If $\alpha \in (0, 1]$ and $\beta \in [0, 1)$ are two real numbers such that $\alpha + \beta \leq 1$, then the IFS

$$c(\alpha, \beta) = \langle x, c_\alpha, 1 - c_{1-\beta} \rangle$$

is called an *intuitionistic fuzzy point* (IFP for short) in X (see [4]) where α (resp., β) is the degree of membership (resp., nonmembership) of $c(\alpha, \beta)$ and $c \in X$ is the support of $c(\alpha, \beta)$. Let $c(\alpha, \beta)$ be an IFP in X and let $A = \langle x, \mu_A, \gamma_A \rangle$ be an IFS in X . Then $c(\alpha, \beta)$ is said to *belong* to A , written $c(\alpha, \beta) \in A$, if $\mu_A(c) \geq \alpha$ and $\gamma_A(c) \leq \beta$. We say that $c(\alpha, \beta)$ is *quasi-coincident with* A , written $c(\alpha, \beta) q A$, if $\mu_A(c) + \alpha > 1$ and $\gamma_A(c) + \beta < 1$. To say that $c(\alpha, \beta) \in \vee q A$ (resp., $c(\alpha, \beta) \in \wedge q A$) means that $c(\alpha, \beta) \in A$ or $c(\alpha, \beta) q A$ (resp., $c(\alpha, \beta) \in A$ and $c(\alpha, \beta) q A$).

3. (Φ, Ψ) -intuitionistic fuzzy subgroups

In what follows let G denote a group, and Φ and Ψ denote any one of $\in, q, \in \vee q,$ or $\in \wedge q$ unless otherwise specified. To say that $x(\alpha, \beta) \bar{\Phi} A$ means that $x(\alpha, \beta) \Phi A$ does not hold. For all $\alpha_1, \alpha_2 \in [0, 1]$, $\min\{\alpha_1, \alpha_2\}$ (resp., $\max\{\alpha_1, \alpha_2\}$) will be denoted by $m(\alpha_1, \alpha_2)$ (resp., $M(\alpha_1, \alpha_2)$).

Definition 3.1 ([5]). An IFS $A = \langle x, \mu_A, \gamma_A \rangle$ in G is called an *intuitionistic fuzzy subgroup* of G if it satisfies

- (i) $\mu_A(xy) \geq m(\mu_A(x), \mu_A(y))$ and $\gamma_A(xy) \leq M(\gamma_A(x), \gamma_A(y))$
- (ii) $\mu_A(x^{-1}) \geq \mu_A(x)$ and $\gamma_A(x^{-1}) \leq \gamma_A(x)$

for all $x, y \in G$.

Theorem 3.2. For any IFS $A = \langle x, \mu_A, \gamma_A \rangle$ in G , the following are equivalent for every $x, y \in G$,

- (i) $\mu_A(xy) \geq m(\mu_A(x), \mu_A(y))$ and $\gamma_A(xy) \leq M(\gamma_A(x), \gamma_A(y))$
- (ii) for every $\alpha_1, \alpha_2 \in (0, 1]$ and $\beta_1, \beta_2 \in [0, 1)$, if $x(\alpha_1, \beta_1) \in A$ and $y(\alpha_2, \beta_2) \in A$ then $(xy)(m(\alpha_1, \alpha_2), M(\beta_1, \beta_2)) \in A$.

Proof. (i) \Rightarrow (ii). Assume that $x(\alpha_1, \beta_1) \in A$ and $y(\alpha_2, \beta_2) \in A$, where $\alpha_1, \alpha_2 \in (0, 1]$ and $\beta_1, \beta_2 \in [0, 1)$. Then $\mu_A(x) \geq \alpha_1$, $\gamma_A(x) \leq \beta_1$, $\mu_A(y) \geq \alpha_2$, and $\gamma_A(y) \leq \beta_2$. It follows from (i) that

$$\mu_A(xy) \geq m(\mu_A(x), \mu_A(y)) \geq m(\alpha_1, \alpha_2)$$

and

$$\gamma_A(xy) \leq M(\gamma_A(x), \gamma_A(y)) \leq M(\beta_1, \beta_2)$$

so that $(xy)(m(\alpha_1, \alpha_2), M(\beta_1, \beta_2)) \in A$.

(ii) \Rightarrow (i). Suppose that (ii) is valid. Note that $x(\mu_A(x), \gamma_A(x)) \in A$ and $y(\mu_A(y), \gamma_A(y)) \in A$. Thus, by (ii), we have

$$(xy)(m(\mu_A(x), \mu_A(y)), M(\gamma_A(x), \gamma_A(y))) \in A,$$

and so $\mu_A(xy) \geq m(\mu_A(x), \mu_A(y))$ and $\gamma_A(xy) \leq M(\gamma_A(x), \gamma_A(y))$. This completes the proof. \square

It follows from Theorem 3.2 that the condition (i) of Definition 3.1 may be replaced by the condition (ii) of Theorem 3.2. If we take notice of the idea of quasi-coincidence of an IFP with an IFS, it is natural to inquire what happens if the \in 's in the left and right hand side of the condition (ii) of Theorem 3.2 are replaced by q , $\in \vee q$ or $\in \wedge q$. With this in mind, we introduce the concept of a (Φ, Ψ) -intuitionistic fuzzy subgroup.

Definition 3.3. An IFS $A = \langle x, \mu_A, \gamma_A \rangle$ in G is said to be a (Φ, Ψ) -intuitionistic fuzzy subgroup of G , where $\Phi \neq \in \wedge q$, if for every $x, y \in G$, $\alpha_1, \alpha_2 \in (0, 1]$, and $\beta_1, \beta_2 \in [0, 1)$, the following holds:

- (i) $x(\alpha_1, \beta_1)\Phi A$ and $y(\alpha_2, \beta_2)\Phi A$ imply $(xy)(m(\alpha_1, \alpha_2), M(\beta_1, \beta_2))\Psi A$,
- (ii) $\mu_A(x^{-1}) \geq \mu_A(x)$ and $\gamma_A(x^{-1}) \leq \gamma_A(x)$.

Combining Theorem 3.2 and Definitions 3.1 and 3.3, we know that every (\in, \in) -intuitionistic fuzzy subgroup is an intuitionistic fuzzy subgroup. An IFS $A = \langle x, \mu_A, \gamma_A \rangle$ in G is said to be *nonzero-nonunit* if there exists $x \in G$ such that $\mu_A(x) \neq 0$ and $\gamma_A(x) \neq 1$.

Theorem 3.4. Let $A = \langle x, \mu_A, \gamma_A \rangle$ be a nonzero-nonunit (Φ, Ψ) -intuitionistic fuzzy subgroup of G . Then

- (i) $\mu_A(e) > 0$ and $\gamma_A(e) < 1$.
- (ii) $[\mu_A > 0] := \{x \in G \mid \mu_A(x) > 0\}$ and $[\gamma_A < 1] := \{x \in G \mid \gamma_A(x) < 1\}$ are subgroups of G .

Proof. (i) Since $A = \langle x, \mu_A, \gamma_A \rangle$ is nonzero-nonunit, there exists $x \in G$ such that $\mu_A(x) = \alpha_1 > 0$ and $\gamma_A(x) = \beta_1 < 1$. We know that

- $x(\alpha_1, \beta_1) \in A$ and $x^{-1}(\alpha_1, \beta_1) \in A$,
- $x(\alpha_1, \beta_1) \in \vee q A$ and $x^{-1}(\alpha_1, \beta_1) \in \vee q A$,
- $x(1, 0)qA$ and $x^{-1}(1, 0)qA$.

We consider the first and second cases. If $\mu_A(e) = 0$, then $\mu_A(e) = 0 \not\geq \alpha_1$ and $\mu_A(e) + \alpha_1 = \alpha_1 \not\geq 1$. If $\gamma_A(e) = 1$, then $\gamma_A(e) = 1 \not\leq \beta_1$ and $\gamma_A(e) + \beta_1 = 1 + \beta_1 \not\leq 1$. Hence we have

$$(xx^{-1})(m(\alpha_1, \alpha_1), M(\beta_1, \beta_1)) = e(\alpha_1, \beta_1)\bar{\Psi}A,$$

a contradiction. For the last case, we get

$$(xx^{-1})(m(1, 1), M(0, 0)) = e(1, 0)\bar{\Psi}A$$

whenever $\mu_A(e) = 0$ or $\gamma_A(e) = 1$. This is a contradiction. Therefore $\mu_A(e) > 0$ and $\gamma_A(e) < 1$.

(ii) Let $x, y \in [\mu_A > 0]$ and $u, v \in [\gamma_A < 1]$. Then $\mu_A(x) > 0$, $\mu_A(y) > 0$, $\gamma_A(u) < 1$, and $\gamma_A(v) < 1$. If $\Phi = \in$ or $\Phi = \in \vee q$, then $x(\mu_A(x), \gamma_A(x))\Phi A$, $y(\mu_A(y), \gamma_A(y))\Phi A$, $u(\mu_A(u), \gamma_A(u))\Phi A$, and $v(\mu_A(v), \gamma_A(v))\Phi A$. But

$$(xy)(m(\mu_A(x), \mu_A(y)), M(\gamma_A(x), \gamma_A(y)))\bar{\Psi}A$$

whenever $\mu_A(xy) = 0$; and

$$(uv)(m(\mu_A(u), \mu_A(v)), M(\gamma_A(u), \gamma_A(v)))\bar{\Psi}A$$

whenever $\gamma_A(uv) = 1$. These are contradictions. Now if $\Phi = q$, then $x(1, 0)\Phi A$, $y(1, 0)\Phi A$, $u(1, 0)\Phi A$, and $v(1, 0)\Phi A$. But

$$(xy)(m(1, 1), M(0, 0)) = (xy)(1, 0)\bar{\Psi}A$$

whenever $\mu_A(xy) = 0$, a contradiction; and

$$(uv)(m(1, 1), M(0, 0)) = (uv)(1, 0)\bar{\Psi}A$$

whenever $\gamma_A(uv) = 1$, a contradiction. Hence $\mu_A(xy) > 0$ and $\gamma_A(uv) < 1$, that is, $xy \in [\mu_A > 0]$ and $uv \in [\gamma_A < 1]$. Finally if $x \in [\mu_A > 0]$ and $y \in [\gamma_A < 1]$, then $\mu_A(x^{-1}) \geq \mu_A(x) > 0$ and $\gamma_A(y^{-1}) \leq \gamma_A(y) < 1$. Thus $x^{-1} \in [\mu_A > 0]$ and $y^{-1} \in [\gamma_A < 1]$. Consequently, $[\mu_A > 0]$ and $[\gamma_A < 1]$ are subgroups of G . \square

Theorem 3.5. *If an IFS $A = \langle x, \mu_A, \gamma_A \rangle$ is a nonzero-nonunit (q, q) -intuitionistic fuzzy subgroup of G , then μ_A (resp., γ_A) is constant on $[\mu_A > 0]$ (resp., $[\gamma_A < 1]$).*

Proof. Assume that there exist $b \in [\mu_A > 0]$ and $c \in [\gamma_A < 1]$ such that $\alpha_1 = \mu_A(b) \neq \mu_A(e) = \alpha$ and $\beta_1 = \gamma_A(c) \neq \gamma_A(e) = \beta$. Then either $\alpha_1 < \alpha$ or $\alpha_1 > \alpha$, and either $\beta_1 < \beta$ or $\beta_1 > \beta$. Let $\alpha_1 < \alpha$ and choose $\alpha_2, \alpha_3 \in (0, 1]$ such that $1 - \alpha < \alpha_2 < 1 - \alpha_1 < \alpha_3$. For any $\eta_1 < 1 - \beta$ and $\eta_2 < 1 - \gamma_A(b)$, we get $e(\alpha_2, \eta_1)qA$ and $b(\alpha_3, \eta_2)qA$ but

$$(eb)(m(\alpha_2, \alpha_3), M(\eta_1, \eta_2)) = b(\alpha_2, M(\eta_1, \eta_2))\bar{q}A.$$

This is a contradiction. Let $\alpha_1 > \alpha$. Then for every $\eta < 1 - \gamma_A(b)$, we obtain $b(1 - \alpha, \eta)qA$ and $b^{-1}(1 - \alpha, \eta)qA$ but

$$(bb^{-1})(m(1 - \alpha, 1 - \alpha), M(\eta, \eta)) = e(1 - \alpha, \eta)\bar{q}A,$$

a contradiction. Let $\beta_1 > \beta$ and take $\beta_2, \beta_3 \in [0, 1)$ such that $\beta_2 < 1 - \beta_1 < \beta_3 < 1 - \beta$. Then $e(\delta_1, \beta_3)qA$ and $c(\delta_2, \beta_2)qA$ for every $\delta_1 > 1 - \alpha$ and $\delta_2 > 1 - \mu_A(c)$, but

$$(ec)(m(\delta_1, \delta_2), M(\beta_2, \beta_3)) = c(m(\delta_1, \delta_2), \beta_3)\bar{q}A.$$

This is a contradiction. Finally let $\beta_1 < \beta$. Then for every $\delta > 1 - \mu_A(c)$, we get $c(\delta, 1 - \beta) \mathfrak{q} A$ and $c^{-1}(\delta, 1 - \beta) \mathfrak{q} A$, but

$$(cc^{-1})(m(\delta, \delta), M(1 - \beta, 1 - \beta)) = e(\delta, 1 - \beta) \bar{\mathfrak{q}} A,$$

a contradiction. Therefore $\mu_A(b) = \mu_A(e)$ and $\gamma_A(c) = \gamma_A(e)$ for all $b \in [\mu_A > 0]$ and $c \in [\gamma_A < 1]$. Consequently, μ_A and γ_A are constant on $[\mu_A > 0]$ and $[\gamma_A < 1]$ respectively. \square

We provide conditions for an IFS to be a $(\mathfrak{q}, \in \vee \mathfrak{q})$ -intuitionistic fuzzy subgroup.

Theorem 3.6. *Let H be a subgroup of G and let $A = \langle x, \mu_A, \gamma_A \rangle$ be an IFS in G such that*

- (i) $\mu_A(x) = 0$ and $\gamma_A(x) = 1$ for all $x \in G \setminus H$,
- (ii) $\mu_A(x^{-1}) \geq \mu_A(x) \geq 0.5$ for all $x \in H$,
- (iii) $\gamma_A(x^{-1}) \leq \gamma_A(x) \leq 0.5$ for all $x \in H$.

Then $A = \langle x, \mu_A, \gamma_A \rangle$ is a $(\mathfrak{q}, \in \vee \mathfrak{q})$ -intuitionistic fuzzy subgroup of G .

Proof. Let $x, y \in G$, $\alpha_1, \alpha_2 \in (0, 1]$ and $\beta_1, \beta_2 \in [0, 1)$ be such that

$$x(\alpha_1, \beta_1) \mathfrak{q} A \text{ and } y(\alpha_2, \beta_2) \mathfrak{q} A.$$

Then $x, y \in H$, and so $xy \in H$. If $m(\alpha_1, \alpha_2) > 0.5$ and $M(\beta_1, \beta_2) < 0.5$, then $(xy)(m(\alpha_1, \alpha_2), M(\beta_1, \beta_2)) \mathfrak{q} A$. If $m(\alpha_1, \alpha_2) \leq 0.5$ and $M(\beta_1, \beta_2) \geq 0.5$, then $(xy)(m(\alpha_1, \alpha_2), M(\beta_1, \beta_2)) \in A$. Since $\alpha_1 + \beta_1 \leq 1$ and $\alpha_2 + \beta_2 \leq 1$, the case

$\begin{cases} m(\alpha_1, \alpha_2) > 0.5, \\ M(\beta_1, \beta_2) \geq 0.5 \end{cases}$ does not occur. From the fact that $x, y \in H$, $x(\alpha_1, \beta_1) \mathfrak{q} A$ and $y(\alpha_2, \beta_2) \mathfrak{q} A$, it follows that the case $\begin{cases} m(\alpha_1, \alpha_2) \leq 0.5, \\ M(\beta_1, \beta_2) < 0.5 \end{cases}$ does not occur. Thus in any case we get $(xy)(m(\alpha_1, \alpha_2), M(\beta_1, \beta_2)) \in \vee \mathfrak{q} A$. Hence $A = \langle x, \mu_A, \gamma_A \rangle$ is a $(\mathfrak{q}, \in \vee \mathfrak{q})$ -intuitionistic fuzzy subgroup of G . \square

Theorem 3.7. *Let $A = \langle x, \mu_A, \gamma_A \rangle$ be a $(\mathfrak{q}, \in \vee \mathfrak{q})$ -intuitionistic fuzzy subgroup of G such that μ_A and γ_A are not constant on $[\mu_A > 0]$ and $[\gamma_A < 1]$ respectively. Then*

- (i) *there exist $x, y \in G$ such that $\mu_A(x) \geq 0.5$ and $\gamma_A(y) \leq 0.5$.*
- (ii) $\mu_A(e) \geq 0.5 \geq \gamma_A(e)$.
- (iii) $\mu_A(x) \geq 0.5$ and $\gamma_A(y) \leq 0.5$ for all $x \in [\mu_A > 0]$ and $y \in [\gamma_A < 1]$ respectively.

Proof. Since μ_A and γ_A are not constant on $[\mu_A > 0]$ and $[\gamma_A < 1]$ respectively, there exist $x \in [\mu_A > 0]$ and $y \in [\gamma_A < 1]$ such that $\alpha_1 = \mu_A(x) \neq \mu_A(e) = \alpha$ and

$\beta_1 = \gamma_A(y) \neq \gamma_A(e) = \beta$. Then either $\alpha_1 < \alpha$ or $\alpha_1 > \alpha$, and either $\beta_1 < \beta$ or $\beta_1 > \beta$. Assume that $\mu_A(x) < 0.5$ for all $x \in G$. If $\alpha_1 > \alpha$, choose $\delta > 0.5$ such that $\alpha + \delta < 1 < \alpha_1 + \delta$. Then $x(\delta, \eta) \text{ q } A$ and $x^{-1}(\delta, \eta) \text{ q } A$ for every $\eta < 1 - \gamma_A(x)$, but

$$(xx^{-1})(m(\delta, \delta), M(\eta, \eta)) = e(\delta, \eta) \overline{\in \nabla \text{ q } A},$$

a contradiction. If $\alpha_1 < \alpha$, we can choose $\delta > 0.5$ such that $\alpha_1 + \delta < 1 < \alpha + \delta$. Then $e(\delta, \eta) \text{ q } A$ and $x(1, 0) \text{ q } A$ for every $\eta < 1 - \beta$, but

$$(ex)(m(\delta, 1), M(\eta, 0)) = x(\delta, \eta) \overline{\in \nabla \text{ q } A},$$

a contradiction. Now suppose that $\gamma_A(y) > 0.5$ for all $y \in G$. If $\beta_1 < \beta$, take $\delta < 0.5$ such that $\beta_1 + \delta < 1 < \beta + \delta$. Then $y(\eta, \delta) \text{ q } A$ and $y^{-1}(\eta, \delta) \text{ q } A$ for every $\eta > 1 - \mu_A(y)$, but

$$(yy^{-1})(m(\eta, \eta), M(\delta, \delta)) = e(\eta, \delta) \overline{\in \nabla \text{ q } A}.$$

This is a contradiction. If $\beta_1 > \beta$, we can choose $\delta < 0.5$ such that $\beta + \delta < 1 < \beta_1 + \delta$. Then $e(\eta, \delta) \text{ q } A$ and $y(1, 0) \text{ q } A$ for every $\eta > 1 - \alpha$, but

$$(ey)(m(\eta, 1), M(\delta, 0)) = y(\eta, \delta) \overline{\in \nabla \text{ q } A},$$

a contradiction. Therefore $\mu_A(x) \geq 0.5$ and $\gamma_A(y) \leq 0.5$ for some $x, y \in G$. To show that (ii) is valid, we first let $\alpha = \mu_A(e) < 0.5$. By (i), there exists $x \in G$ such that $\alpha_x = \mu_A(x) \geq 0.5$. Thus $\alpha < \alpha_x$. Choose $\alpha_1 > \alpha$ such that $\alpha + \alpha_1 < 1 < \alpha_x + \alpha_1$. Then $x(\alpha_1, \delta) \text{ q } A$ and $x^{-1}(\alpha_1, \delta) \text{ q } A$ for every $\delta < 1 - \gamma_A(x)$, but

$$(xx^{-1})(m(\alpha_1, \alpha_1), M(\delta, \delta)) = e(\alpha_1, \delta) \overline{\in \nabla \text{ q } A}.$$

This is a contradiction. We now let $\beta = \gamma_A(e) > 0.5$. The condition (i) implies that $\beta_y = \gamma_A(y) \leq 0.5$ for some $y \in G$. Hence $\beta_y < \beta$, and so we can take $\beta_1 < \beta$ such that $\beta_y + \beta_1 < 1 < \beta + \beta_1$. Then $y(\eta, \beta_1) \text{ q } A$ and $y^{-1}(\eta, \beta_1) \text{ q } A$ for every $\eta > 1 - \mu_A(y)$, but

$$(yy^{-1})(m(\eta, \eta), M(\beta_1, \beta_1)) = e(\eta, \beta_1) \overline{\in \nabla \text{ q } A},$$

which is impossible. Therefore $\gamma_A(e) \leq 0.5 \leq \mu_A(e)$. To verify that (iii) holds, let $\alpha_x = \mu_A(x) < 0.5$ for some $x \in [\mu_A > 0]$. Take $\alpha_1 > 0$ such that $\alpha_x + \alpha_1 < 0.5$. Then $x(1, 0) \text{ q } A$ and $e(0.5 + \alpha_1, 0) \text{ q } A$. But

$$(ex)(m(1, 0.5 + \alpha_1), M(0, 0)) = x(0.5 + \alpha_1, 0) \overline{\in \nabla \text{ q } A}.$$

This is a contradiction. Finally assume that $\beta_y = \gamma_A(y) > 0.5$ for some $y \in [\gamma_A < 1]$. Let us take $0 < \delta < 0.5$ such that $0.5 + \delta < 1 < \beta_y + \delta$. Then $e(\eta, \delta) \text{ q } A$ for every $\eta > 1 - \mu_A(e)$, and $y(\zeta, 0) \text{ q } A$ for every $\zeta > 1 - \mu_A(y)$. But

$$(ey)(m(\eta, \zeta), M(\delta, 0)) = y(m(\eta, \zeta), \delta) \overline{\in \nabla \text{ q } A},$$

which is a contradiction. Consequently, $\mu_A(x) \geq 0.5$ and $\gamma_A(y) \leq 0.5$ for all $x \in [\mu_A > 0]$ and $y \in [\gamma_A < 1]$ respectively. This completes the proof. \square

Example 3.8. Consider the Klein's 4-group $G = \{e, a, b, c\}$ with the multiplication table:

	e	a	b	c
e	e	a	b	c
a	a	e	c	b
b	b	c	e	a
c	c	b	a	e

Let $A = \langle x, \mu_A, \gamma_A \rangle$ be an IFS in G defined by $\mu_A(e) = 0.6$, $\mu_A(a) = 0.7$, $\mu_A(b) = \mu_A(c) = 0.4$, $\gamma_A(e) = 0.33$, $\gamma_A(a) = 0.22$, and $\gamma_A(b) = \gamma_A(c) = 0.25$. Then $A = \langle x, \mu_A, \gamma_A \rangle$ is an $(\in, \in \vee q)$ -intuitionistic fuzzy subgroup of G . But (1) $A = \langle x, \mu_A, \gamma_A \rangle$ is not an (\in, \in) -intuitionistic fuzzy subgroup of G since $a(0.62, 0.32) \in A$ and $a(0.66, 0.31) \in A$, but

$$(aa)(m(0.62, 0.66), M(0.32, 0.31)) = e(0.62, 0.32) \notin A.$$

(2) $A = \langle x, \mu_A, \gamma_A \rangle$ is not a $(q, \in \vee q)$ -intuitionistic fuzzy subgroup of G since $a(0.41, 0.57) q A$ and $b(0.67, 0.32) q A$, but

$$(ab)(m(0.41, 0.67), M(0.57, 0.32)) = c(0.41, 0.57) \notin \overline{\vee q} A.$$

(3) $A = \langle x, \mu_A, \gamma_A \rangle$ is not an $(\in \vee q, \in \vee q)$ -intuitionistic fuzzy subgroup of G since $a(0.5, 0.3) \in \vee q A$ and $c(0.63, 0.33) \in \vee q A$, but

$$(ac)(m(0.5, 0.63), M(0.3, 0.33)) = b(0.5, 0.33) \notin \overline{\vee q} A.$$

Lemma 3.9. (1) Every $(\in \vee q, \in \vee q)$ -intuitionistic fuzzy subgroup is an $(\in, \in \vee q)$ -intuitionistic fuzzy subgroup.

(2) Every (\in, \in) -intuitionistic fuzzy subgroup is an $(\in, \in \vee q)$ -intuitionistic fuzzy subgroup.

Proof. Straightforward. \square

Example 3.8 shows that the converse of Lemma 3.9 is not true in general.

For any subset H of G , the intuitionistic fuzzy characteristic function of H is defined to be the IFS $\chi_H = \langle x, \mu_{\chi_H}, \nu_{\chi_H} \rangle$ in G given by

$$\mu_{\chi_H}(x) := \begin{cases} 1 & \text{if } x \in H, \\ 0 & \text{if } x \notin H, \end{cases} \quad \nu_{\chi_H}(x) := \begin{cases} 0 & \text{if } x \in H, \\ 1 & \text{if } x \notin H. \end{cases}$$

Theorem 3.10. For any subset H of G , the intuitionistic fuzzy characteristic function $\chi_H = \langle x, \mu_{\chi_H}, \nu_{\chi_H} \rangle$ of H is an $(\in, \in \vee q)$ -intuitionistic fuzzy subgroup of G if

and only if H is a subgroup of G .

Proof. Assume that $\chi_H = \langle x, \mu_{\chi_H}, \nu_{\chi_H} \rangle$ is an $(\in, \in \vee q)$ -intuitionistic fuzzy subgroup of G . Let $x, y \in H$. Then $\mu_{\chi_H}(x) = 1 = \mu_{\chi_H}(y)$ and $\nu_{\chi_H}(x) = 0 = \nu_{\chi_H}(y)$, and so $x(1, 0) \in \chi_H$ and $y(1, 0) \in \chi_H$. Since χ_H is an $(\in, \in \vee q)$ -intuitionistic fuzzy subgroup of G , it follows that

$$(xy)(m(1, 1), M(0, 0)) = (xy)(1, 0) \in \vee q \chi_H$$

so that $\mu_{\chi_H}(xy) = 1$ and $\nu_{\chi_H}(xy) = 0$. Thus $xy \in H$. Now if $x \in H$, then

$$\mu_{\chi_H}(x^{-1}) \geq \mu_{\chi_H}(x) = 1 \text{ and } \nu_{\chi_H}(x^{-1}) \leq \nu_{\chi_H}(x) = 0.$$

Hence $\mu_{\chi_H}(x^{-1}) = 1$ and $\nu_{\chi_H}(x^{-1}) = 0$, and so $x^{-1} \in H$. Therefore H is a subgroup of G .

Conversely suppose that H is a subgroup of G . Let $x, y \in G$, $\alpha_1, \alpha_2 \in (0, 1]$, and $\beta_1, \beta_2 \in [0, 1)$ be such that $x(\alpha_1, \beta_1) \in \chi_H$ and $y(\alpha_2, \beta_2) \in \chi_H$. Then $\mu_{\chi_H}(x) \geq \alpha_1 > 0$, $\nu_{\chi_H}(x) \leq \beta_1 < 1$, $\mu_{\chi_H}(y) \geq \alpha_2 > 0$, and $\nu_{\chi_H}(y) \leq \beta_2 < 1$. It follows that $\mu_{\chi_H}(x) = 1 = \mu_{\chi_H}(y)$ and $\nu_{\chi_H}(x) = 0 = \nu_{\chi_H}(y)$ so that $x, y \in H$. Since H is a subgroup of G , we get $xy \in H$, which yields $\mu_{\chi_H}(xy) = 1 \geq m(\alpha_1, \alpha_2)$ and $\nu_{\chi_H}(xy) = 0 \leq M(\beta_1, \beta_2)$. This shows that

$$(xy)(m(\alpha_1, \alpha_2), M(\beta_1, \beta_2)) \in \chi_H.$$

Obviously, we have $\mu_{\chi_H}(x^{-1}) \geq \mu_{\chi_H}(x)$ and $\nu_{\chi_H}(x^{-1}) \leq \nu_{\chi_H}(x)$. Hence χ_H is an $(\in, \in \vee q)$ -intuitionistic fuzzy subgroup of G , and consequently it is an $(\in, \in \vee q)$ -intuitionistic fuzzy subgroup of G by Lemma 3.9(2). \square

Acknowledgements. The author is highly grateful to the referee for his/her valuable comments and suggestions for improving the paper.

References

- [1] K. T. Atanassov, *Intuitionistic fuzzy sets*, Fuzzy Sets and Systems, **20**(1986), 87–96.
- [2] K. T. Atanassov, *New operations defined over the intuitionistic fuzzy sets*, Fuzzy Sets and Systems, **61**(1994), 137–142.
- [3] S. K. Bhakat and P. Das, *$(\in, \in \vee q)$ -fuzzy subgroup*, Fuzzy Sets and Systems, **80**(1996), 359–368.
- [4] D. Çoker and M. Demirci, *On intuitionistic fuzzy points*, Notes IFS, **1**(2)(1995), 79–84.
- [5] K. Hur, H. W. Kang and H. K. Song, *Intuitionistic fuzzy subgroups and subrings*, Honam Math. J., **25**(1)(2003), 19–41.
- [6] A. Rosenfeld, *Fuzzy groups*, J. Math. Anal. Appl., **35**(1971), 512–517.
- [7] L. A. Zadeh, *Fuzzy sets*, Inform. and Control, **8**(1965), 338–353.